Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code:C300006 Date: 01 -06 -2016
Subject Name: Engineering Chemistry (Group-2)
Time: 10.30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

Attempt all questions.

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Ust 3 ([Ascql.
The structure of NaCl is

1. [A. |BCC B. |FCC
C. | HCP D. | None
NaCl of 6{tll0L 8.

1. [A. |BCC B. |FCC
Which type of bond formation take place in diamond?

2. | A._ | lonic bond B. | Hydrogen bond
C. | Metallic bond D. | Covalent bond
SRAHL sl Yslall olu A sl 87

2. | A | A@s olu B. | slgfQloget oitd
C. | alus ol D. | ue dlws ol
The bond formed by transfer of electron is

3. | A. | Covalent B. | Mettalic
C. | lonic D. | Hydrogen
gAslat oHlclel olotdl vit 8.

3. | A | us dAlws oiu B. | ails ol
C. | wal@s oiu D. | sig5gloset oitd
Which of following catalyst is used in preparation of NH3?

4. | A. | Fe B. | Ni
C. [Cu D. | Pt
o(lAsttHtell s Glaus Arellauloll olotla Ml duRlA B?

8. [A JFe B. [Ni
C. [Cu D. | Pt
Which of following catalyst is used in preparation of vegetable Ghee?

5 | A |AICI; B. | SiO;

C. |Ni D. | MnO>
o(lAsttHLell s Glaus dotRudl loll wollazHl U B7?

4. [A. TAICIs B. [SiO,

C. |Ni D. | MnO>

6 MnO; is type of catalyst.

" | A. | Auto catalyst | B. | Catalytic inhibitior
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C. | Positive catalyst

| D. | Negative catalyst

MnO; ysiRell GRus ©.
5. |A |l GRuUs GRUS wdRAuUS
C. | uot GRuUS D. | s GRuUs
The strength of cement concrete is due to bond.
7. | A. | lonic bond B. | Covalent bond
C. | Mettalic bond D. | Hydrogen bond
RNz silseoll Hoxofdles oital AUl B.
9. | A | wAEs olu B. | do dls olu
C. | awlus olu D. | steSglosat oty
Zigler-Natta catalyst is used in the manufacture of
8. | A |PV.C B. | Polyethylene
C. | Nylon D. | Polypropylene
Porxz-stel Glaus oll GAUlESIHL U D.
¢. |A |PVEC B. | Qcllgellellot
C. | sttacdlet D [ Qellellst
pH of pure water at 25°C is
9. |A |2 B. |9
C. |14 D. |7
UOA ctlurlal gt wellell pH gl 8.
c. |A R ¢
pH of 0.01M HCI solution is
10. |A. |12 B. |7
C. |2 D. |8
0.0 M HCl sl stci@tell pH .
0. [A | 1R B.- 1o
C. |» D. |¢
Electrode potential of standard hydrogen electrode at 25°C is Volt.
11. |A. |0.0 B. |15
C. |25 D. |3
UOA AU YHIRld sleloset Yeloll WE R dlce sl ®.
14. 0.0 B. |y
.Y D. |3
The value of Kw at 25°C is .
12. |A. | 10" B. |10
C. | 1010 D. |10%
UOA ALUHLA Kw of &L sla 8.
WR.TA J107 B. [10™
C. | 1010 D. |10%
pH can be defined as the negative logarithm of ion concentration.
13. | A. | H3O" B. |OH
C. | Na' D. | K"
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pH ol UlAotoll Alscllotl BR AYowRLs a3 g2latl wa B.
13. [A. [H0" B. | OH

C. | Na' D. | K"

Solution which resist changes in pH are called
14. | A. | Acidic solution B. | Basic solution

C. | Buffer solution D. | Neutral solution

% alalll pH ML 3250l YldAsR 52 da alalll sdall.
. | A | ARBSs ala.l B. | Qofls alaal

C. | w2 alanl D. | deast alanl

Which metals reactivity is least?
15. [A. [ Ni B. |Cu

C. | Fe D. | Au

56 tldoll UBAA A 208 B2
. A [Ni B. [Cu

C. | Fe D. | Au

Electrochemical cell converts chemical energy into
16. | A. | Electrical energy B. | Mechanical energy

C. | Kinetic energy D. | All of the above

lerru2u@ls sy AW2L s Gosie] Hi 3UIAR 52 .
5. | A | Qg Gt B. | ailds G

C. | oA G GURetl oLty

1 Faraday = Coulomb.
17. | A. | 96400 B. | 96300

C. |96500 D. |96000

1§ = scol
19. A, ]96400 B. [96300

C. |96500 D. |96000

Strong electrolyte is having degree of ionization than weak electrolyte.
18. | A. | Less B. | More

C. | Equal D. | None

yolol Qg [Qeusaiell waBseRigl [oln [@Qgd [@Qeusat sl gl .
. | A |28 B | au

C. | an D. | 8188 ual o

In the electroplating the articles which require to be coated is connected at
19. | A. | Cathode B. | Anode

C. | Both D. | None

SAsSALROIML B cxq UR alol Aslelellell gl Al U AsclHl wA B
1. 3als B. | Qalls

ol D. 1 818 uul <13

HCI is type of electrolyte.
20. | A. | Weak B. | Intermediate

C. | Strong D. | Non-elctrolyte

HCI ysall [Qgd Qe 8.
0.

A | Qe B. | wean
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C lyua D. | Qg uQeus
Rusting of iron is process.

21. | A. | Fast B. | Slow
C. | Medium D. | None
Avisq] salg A ylsa 8.

4. [A | sl B. | ellll
Co | et D. | 818 ual o1
Corrosion of metal is

22. | A. | Oxidation B. | Reduction
C. | Electrolysis D. | Hydrolysis
tUlqle] &Ryl A2A

R, U3 2t s salet
C | @y Qeueset D | e @Qewtosat
Which type of corrosion occur in boiler?

23. | A. | Uniform B. | Concentration cell corrosion
C. | Pitting D. | Crevice
WESARML SUL YUSlRe] &lREl Sl HA 8?

3. | A | AsuRy B. | diactt 8ln &Rl
C. 1dRal D. | Baussu
Galvanizing means protective coating of on lron.

24. | A. | Al B. |Cu
C. | Sn D. |Zn
AcAautegSAlol Med Alvis BUR of R Uslad.

¥ A Al B. [Cu
C. |Sn D. |Zn
Which of the following factors are responsible for corrosion?

25. | A. | Moisture B. | Temperature
C. | pH of solution D. | All of the above
LAttt sl URHON &R0l HIZ A CUHER B?

MU | A Ay B | cttusist
C. | alagedl pH D. | GuRell ot
To reduce corrosion welding should be avoided at places.

26. |A. | L B. | T
C. |U D. | All of the above
&R0l walsal Hie ULAel @l BUR AL 2lng,

Rs. |A. | L B. | T
c. U D. | Guzetl sttt %
Melting point of Zinc is Fe.

27. | A. | More than B. | Lessthan
C. | Equal to D. | None.

Asaj olcdatollg Auls sl 8.

0. | A | auR A\

C lury D. | ¢ ual o

28. | Steel is the alloy of
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A. | Ni B. |Cr
C. |BothA&B D. | None
¥l ol (st uld ®.

R¢. | A. | Ni B. [Cr
C. | D. 1 Q¢ ug «@
1B.T.U.= Calorie.

29. |A. | 252 B. | 300

.| 200 D. | 400
1B.TU.= 5a3l.

RC. A [252 B. [300
C. | 200 D. | 400
Which coal contain maximum percentage of carbon?

30. | A. | Lignite coal B. | Bituminious coal
C. | Peat coal D. | Anthracite coal
sl SlAUHL sLolotof YHiel Al auR sl B2

30. QaueSe Sl B. | (gl sl
C e D. | AAudse Sl
Which instrument is used to measure the calorific value of solid& liquid fuel?

31. | A. | Bomb calorimeter B. | Thermometer
C. | Wattmeter D. | Ammeter
ol Aal Yl cncilell 3AIN(s Acy Hiual HI2 5 Aol cduRld B?

39, | A | diot 3ARHeR B. | snili{le?

C. | dedle: D. [ aule:
In India lignite coal occurs in .

32. | A. | Assam B. | Delhi
C. | Punjab D. | Maharashtra
HRAML [Qostise sl Hi Holl A 8.

3R. UUH Rcél
C. | Yot D. | wel2ieg
Which major gas is found in L.P.G.?

33. | A. | Methane B. | Butane
C. | Propane D. | Ethane
LP.G. Hl Jul sl a3 wAl slA B?

33. |A | Rt B. | 632at
C. |9t D. | s2st
Which process is used for the refining of petroleum?

34. | A. | Fractional distillation B. | Filteration
C. | Distillation D. | Crystallisation
Qalcllamotl geellsul 56 urudl auRja 872

3¥. | A | Rewdlla RrRigat B. [ ouagt
C. | Qieat D. | :5dldls2ul
Chemical formula of ethyl alcohol(ethanol) is

35. | A. | CHsOH B. | C3H;OH
C. | CoHsOH D. | C4HOH
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34.

SAollcte] AAAR(S Y 8.

A. | CHsOH B. | CsH;OH
C. | CoHsOH D. | C4HsOH
Major constitute of C.N.G. is :
36. | A. | Methane B. | Propane
C. | Butane D. | Ethane
CNG. dlell yua tles 8.
35, [ A | @t B. | Qe
C. | op2et D. | 3t
Which is the first stage of the coalification of wood?
37. | A. | Lignite B. | Peat
C. | Bituminous coal D. | Anthracite
cAlsstHLel sldlotl 3UldRell YUH doissl sl 872
30. | A | @Qoousse B. e
C. | @zl sl D. | A2
From the following which is an example for secondary fuel?
38. | A. | Crude oil B. | Wood
C. | Kerosene D. | Natural gas
o(lAsuuiell [BQas sndul s 82
3¢. 55 AWTA B. | cuss
C.o 1 3Axllot D. | seadl auy
Which of the following substance is mixed with L.P.G.to get odour to it?
39. | A. | Propane B. | Butane
C. | Methane D. | Mercaptans
ol Aol sl cll3] L.P.G.HL Wi YsRell clldt {2 MAst sail wd 82
3¢. |A | Qo B. | 632at
C. | Rast D ur¥teat
Mixture of petrol and alcohol is known as
40. | A. | Power alcohol B. | Gasoline
C. | Methanol D. | All of the above
WA Wl AUEHEAoj 310 A3 A B.
¥0. | A | WeR wesldae B. | Jacllst
C. | M D. | GuRell viui %
Select solid lubricant in below.
41. | A. | Graphite B. | Grease
C. | Palm il D. | None
(LAl ot s UE 3.
¥ | A | Jase B. | oflos
C.|ux aa D. | 8¢5 ual o@
Viscosity of lubricating oil is determined by .
42. | A. | pH meter B. | Pensky martin apparatus
C. | Red wood viscometer D. | None
¥R. | wesell Raldudl GLRL HUcHL wa B,

6/11




pH l2?

Wasl-Hlet Gus:L

¥sqs (Qrslle? D. | 88 ul «1@
The unit of viscosity is .
43. | A. | Newton B. | Poise
C. | gm//litre D. | All of the above
ReloUloll AU 0.
¥3. Rj2el B. | Q&
A/ Ale? D. | Guretl wiui
The temperature at which oil becomes cloudy in appearance is called
44. | A. | Flash point B. | Fire point
C. | Cloud point D. | None
B AlUHIA @lesall Eullal Alen Bl EWIAL A cdlUHlolal 58 9.
¥y, A | asst g B. | a0 (@g
C | aea g D | 818 g o1&
is used to measure the Flash-Point & Fire —Point of Lubticants.
45. | A. | Red wood viscometer B. | Watt-meter
C. | pH meter D. | Pensky martin apparatus
659 alsslolg wal Al Hual HIR QuRAA B,
¥ [ A | Rsgs @sllle? B. | dleale?
C. | pH ez D. | Qagl-uélet Guszwl
Lubricants are used to reduce the Resistance between two moving surfaces.
46. | A. | Thermal B. | Electrical
C. | Rotational D. | Frictional
&5l GUAL A URSAl AWEA Al WRlUal Yalsal Hie Ul B.
¥s. Gl B. | [Qglaa
usla D. | anfg
The temperature at which the liquid lubricant no longer flow is called
47. | A. | Pour point B. | Cloud point
C. | Flash point D. | Fire point
% dAlUMlal Yaldl @esell RA AAA wW2sl A d dluHlolal 56 8.
¥o. | A | e (Olg B. | aeq (elg
C. | asst (Ag D. | 2o @g
Which type of lubricant is used in heavy machineries?
48. | A. | Solid B. | Semi-solid
C. | Both D. | None
AR ol YRladcl HllolHi sl YslRa] ¢les dAuRlU B?
¥¢. | A | et B. | ati-uat
C.olua D. 1 818 gl «1@
Monomer of P.V.C. is
49. | A. | Vinyl Chloride B. | Vinyl cyanide
C. | Ethylene D. | Propylene
¥e. |P.V.CHL YsRall HlallHR sl 8.
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A | [QellSe SARLES QetlSd WSS
C. | gellcllot D. 1 Qulellet
Ethylene is polymer.

50. | A. | Linear B. | Branched
C. | Cross-linked D. | None
gSelcdlot YsRell WollHR 8,

wo. [A [ lla B. | auvllat
C.o | aid? oi@d D. 1 Q¢ ua «@
Monomer of polyethylene is .

51. | A. | Ethane B. | Propane
C. | Propylene D. | Ethylene
WllSellAlotn YsRell HlallHR &l B.

ug, | A | 62t B. | Qe
C. | Aot D. | sallcllet
P.V.C.is plastic.

52. | A. | Thermosetting B. | Thermo plastic
C. |BothA&B D. | None
P.V.C. YUsla] wléls 8.

u. |[A | wdl@dla al wedls
C | da D | 818 g o8
What is monomer of Teflon?

53. | A. | Propylene B. | Phenol
C. | Tetrafluoro ethylene D. | Ethylene
esAlattl sl Ysloll HlolldR sl 87

uz. | A Qe B. | (ollct
C. | 2252 sellellot D. | gallcllot
Phenol Formaldehyde polymer is also known as

54. | A. | Orlon B. |P.V.C.

C. | Nylon D. | Bakelite
BeAlld-sHicslolss WAlHR SHERIEENOUTTONY
wy. | A | RAW B | Lellall.
C. | slatclet D. | Qcude
is used for vulcanization of rubber.

55. | A. | Si B. |Cr
C. |S D. | Fe
RURell Aol RAAM AuRlA 8,

W A Tsi B. |[Cr
C. |S D. | Fe
Monomer of natural rubber is .

56. | A. | Ethylene B. | Vinyl chloride
C. | Propylene D. | Isoprene
el RuRUL HlollHR wlacl sl B.

us.

A Sellellot B. | @QeusSct sARLSS
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Co adlcllet D. T augaiylot
Select natural polymer in below.
57. | A. | Cotton B. |P.V.C.
C. |BothA&B D. | None
o{lAotiiell secl WAlHR urle s2A
. 3 B. | l.clal.
C. |da D. | 818 ual o1
Which type of polymer is used in the manufacture of sweater?
58. | A. | Bakelite B. | Orlon
C. |P.V.C. D. | Teflon
20l BUlEaHl sl YslRe] Wellur auia 872
we. |A | Bause B. | 22t
Co Ll D. | 2scat
From the following which is an example for elastomer?
59. | A. | Buna-S B. | Polyester
C. | Bakelite D. | Melamine
ol Aot 0] GELEW 5 B?
ue, | A | ofell-S B. | Az
AsAlES2 AAHIE o
The commercial name of epoxy resin is )
60. | A. | Thermocol B. | Fevicol
C. | Araldite D. | Rubber
WAL 8 oto] AUl oty 8.
so. [A | wilsla B. | 3@
C. 1 Arasise D. | w2
From the following which is the example for addition polymerization?
61. | A. | Bakelite B. | Polyethylene
C. | Polyester D. | Melamine Formaldehyde
ol Aottatell LA wgcllsqLe] BeleWL 53 B?
sa. [A | Adaude B. [ Qcllgellelt
C. |l Qclare? D. | RemudSet uicslales's
Which type of polymer is used in the manufacture of tyre?
62. | A. | Thermoplastic B. | Thermosetting plastic
C. | Rubber D. | Epoxy Resin
2l2AR0ll GeuledtHl sall YsRej WAlHR aduRia 82
s2. | A | ailhedls B. | suiadlol wedls
C 1R D. | gdell oflet
In Lead storage battery is used as a electrolyte.
63. | A. | HCI B. | HNO3
C. | HxSOq4 D. | NaOH
As Aolses s\ul (Agct-[Qeusa 313 of alall duRlA B.
s3. [A. [HCI B. |HNOs
C. | H2SO4 D. | NaOH
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The cell potential of dry cell is

B. [1.5Volt

64. | A. | 4.0Volt
C. [3.0Volt D. | 6.0 Volt
Ysl slell sl W2RQac sl .

s¥. | A |40 Al B. |15 Aee
C. |30 Ace 6.0 dlee
In the dry cell zinc container acts as .

65. | A. | Anode B. | Cathode
C. |BathA&B D. | None
YsislHL [P¥seg wiaL 3% ad B.

su. | A | Aals B. | 3als
C. | ix D. 1 a1 ugt o1

is used in torch.

66. | A. | Fuel cell B. | Drycell
C. | Lead storage cell D. | All of the above
QLRIHI oll GUallol a8,

5. “adel sy B. | yal sln
C. 1 as- douss sln D. | Gurew otul %
Which is an example for Primary cell?

67. | A. | Ni-Cd cell B. | Lead storage cell
C. | Fuel cell D. | Drycell
ylaHls slneg GelgR0l 5 872

s9. | A | @sa-3slan sy As-Aalles sl
C | aada sy D] 48l sln
Which is the cathode part of dry cell?

68. | A. | Zn B. | Graphite
C. | MnOy D. | NH4CI
Ysislul 3es 313 9 ad 82
C. | MnO; D. | NH.CI
The cell which converts solar energy into electrical energy is called

69. | A. | Drycell B. | Fuel cell
C. | Solar cell D. | none

WR-Goslo] (Agcd GAIHL 3ULAR 5l SN 58 9.

se. Ysl sl B. | slnctl S\

C e A D. | 818 ug 1@
Which type of material is used in solar cell?

70. | A. | Conductor B. | Semi-conductor
C. | Insulator D. | None
AR SN sl YsiRe] HEllad auRla 82

90. | A | cles B. | uti-cues
C. | wauss D. | 9 ual o8
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